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B MBS

WFRES . MOCHE, GRAM. 8-S NRKXFANHE, ERAENC, TR
%o RATHRINRYT A6 MO, RERELDT, B REVGESRE T K, BEF
BB CEFRAPILTF AR H,

— WHERRBEHAEHSER

WENEE AT HERIKE>OENRES TR EERROLFENRES HESRE
BRBE(REHERE RPN PN REFENEHER AT EFRENERRAEH . BF
KAPXLRBER AR ERE . BT EEEH R, ESRE EER TR B4 L
T, B E 8 120 WM 0T AP RE, —R AT AUTE, R ERELRET 70%”. KN
BRFEE¥ TR, NREUTW R BEE.

. P75 838 P 49 F X (Discriminating Sounds in Isolated Word Forms) ;
. BE31E i P 89 F X (Discriminating Sounds in Connected Speech) ;
. ¥4 5 H % 5% (Recognizing Stress Patterns) ;
. FEfR15 H 28 (Understanding Intonation Patterns) ;
. JERR/E]F & B /9 3¢ BR A 1 (Understanding the Communicative Value of Sentences
and Utterances) ;
6. BHAER PR E S ME 4 {5 B (Identifying the Main Point or Important Information in
a Piece of Discourse) ;
7. YEHEWAY T (Making Accurate Inferences) ;
8. Y%L (Taking Notes),

VO 2R %5 K07 S FR AR A Xt LA B REA — N AR, X EARER, (KFHIED

R H XKW XX E T 0T N
1. FEHENEENGBLY 120 175
2. XEELSY (Section A) N H B AETEFH —BIHE, B TEHAMNERKE S
3. SR UT S48 (Section B) A BIb BR, 18 A KE B8 H HHE AGRE,
4. FTAEEAEEHERNEACRURR EHEE.

%4 BB RAHOE SR, RBEATFEAW NG R, Hitkl A B oHgssX s, £
W & 4, i 2 35 B sk M 4K,

= WHERAENE SRR

Wy 11 3R R R R E R E A, R RE U FILER.
(—) Section A(/NXTiE)

S W N

(9}



X —ERo A5 10 NG, G—/NE A —HME, BAMBE —F L ZE#T, XiEE
H—A M), B S EREMEN AR Y — N E, RS AR R RN, TR
REL, B—HREE5T-HMEWERY 38HAEL.

TE R 1997 4 6 ARV IE MR Section A HIHRIERA, B T I LA B (8 5 A X % B A —
A HEE WA AR
Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversa-

tion, a question will be asked about what was said . Both the conversation and the
question will be spoken only once. After each question there will be a pause. During
the pause, you must read the four choices marked A), B), C) and D), and de-
cide which is the best answer. Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.
Example: You will hear:
You will read: A) At the office. C) At the airport.
B) In the waiting room. D) In a restaurant.

From the conversation we know that the two were talking about some work they had to fin-
ish in the evening. This is most likely to have taken place at the office. Therefore, A) “At the
office” is the best answer . You should choose [ A] on the Answer Sheet and mark it with a sin-

gle line through the centre.

Sample Answer: [A-] [B] [C] [D]

1. A) Skating. C) Swimming.
B Boating and swimming. ’ D) Boating and skating.
2. A) Put her report on his desk. C) Mail her report to the publisher.
B) Read some papers he recommended. D) Improve some parts of her paper.
3. A) She loves doing anything that is new. C) She takes it as a kind of exercises.
B) She wants to save money. D) Her office isn’t very far.
4. A) A shop assistant. C) A clerk.
B) A telephone. D) A waitress.
5. A) A postal clerk. C) A bus conductor.
B) A taxj driver. ‘ D) A railway porter.

6. A) Most people killed in traffic accidents are heavy drinkers.
B) People should pay more attention to the danger of drunk driving.
C) Drunk drivers are not guilty.
D) She does not agree with the man. :
7. A) £8.60. B) £6.40. C) £4.30. D) £1.40.

8. A) Collect papers for the man. C) Do the typing once again.
B) Check the paper for typing errors. D) Read the whole newspaper.



9. A) The woman does not want to go to the movies.

B) The man is too tired to go to the movies.

C) The woman wants to go to the movies.

D) The man wants to go out for dinner.

10. A) On foot. B) By bike. C) By taxi. D) By bus.

() Section B(EXX) »

WESSY — M 3 WA AN .. EXHEBHEHEHIER T2, KBAFEDGE B,
W%, MEFBIAWBEMEEX B IR EMESEELTANNE, SSEXHE
B— A 150—170 FZ 16, FHBBHI X 250 7, BUE 100 MFEER. EikAt, HC
HIRE RE—R, A GRE RV —i, 58 75 05 5 & 68,

THEE 1995 4 6 A MRV S1H## Section B BRI, B T 1t LA 8 % Ak ST B R A —
A H BRI,

Section B

Dii'ections: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once.
A fte} you hear a question, you must choose the best answer from the four choices
marked A), B), C) and D). Then mark the corresponding letter on the Answer
Sheet with a single line through the centre. ’

Passage One
Questions 11 to 13 are based on the passage you have just heard .
11. A) Courses in British history. C) Courses in sports.
B) Language courses. D) Teacher training courses.

12. A) To attract more students.
B) To make the courses suitable for students of all levels.
C) To let the students have a good rest.
D) To make the summer school more like a holiday.
13. A) Because they all work hard.
B) Because their teachers are all native speakers of English.
C) Because they learn not only in but also out of class.
D) Because they are all advanced students.
Passage Two , -
Questions 14 to 16 are based on the passage you have just heard .
14. A) Because it takes too long to process all the applications.
B) Because its resources are limited.
C) Because it is a library for special purposes.

D) Because there is a shortage of staff.

15. A) Discard his application form. C) Cancel his video card.
B) Forbid him to borrow any items. D) Ask him' to apply again.

16. A) One month. B) One week. C) Two weeks. D) Two months.
' 3



Passage Three
Questions 17 to 20 are based on the passage you have just heard .

17. A) Chernicals. B) Vapor. C) Water. D) Gas.
18. A) By passing steam over dry ice. C) By heating dry ice.
B) By turning ordinary ice into steam. D) By mixing dry ice with ordinary ice.
19. A) It takes a longer time to melt. C) It is cleaner to use than ordinary ice.
B) It is lighter to carry. D) It is not so cold as ordinary ice.
20. A) In the 1920’s. B) In the 1930’s. C) In the 1940’s. D) In the 1950’s.

V9 €% b 7 FE AR LA TE HUF DA B P A8 & (Short Conversations Fll Passages) . iX 4 it i U #5
R ZRNAE, %&£ AT ELE Answer Sheet L RILZEI], R\ FE — A BF, XFHE
BRARE, WAREEE, ETRE, EXROMUK TS HEFEETREN RS
BOREREH AR SEEARDING, ATHE - PUHLERFEEN ARSI, BRELR
MHE, HIRERASN 1993 EFLHTHBUNRARIE, $RZRLSTBEMNTR B
RAZERYEZARXEHHERAIMME, T 1995F 7 A TE MU RAYFHER,
ZEIR LA T B 22 (Spot Dictation) o HIEXF 1996 £ 7 AAH T HE_#HATRER AR FE R .
{1 461 51 % (A1 70 3L & X975 (Compound Dictation) s X B4 BTEAA — M 1997 4 1 A F 4
E2ERFIIEN AR APRHEERM, T 1997 45 6 AM 1998 4 1 A @Y PU %% o
THARNER—FEY, |

RAFEANENREESRIUEAREER RES ¥ L I TREEE N LRRIEIFLE
1. FUBMEHRXTRAM4 2RBERAEEFALH, M5 EERBIGRE Y F 6,
B BB AR KR,

LR RF AL Spot Dictation 1 Compound Dictation f4+ 45 :

1. W75 %2 (Spot Dictation)

E—HoRERE LAY —B 120 HEAMES, HPH 10 M EREHK. SBOTHRER
BA—IMRFHEGFH Y. SXUXRZEEHFAAMETHEEREZR, 8L
XA, RAEEE, HEERELEXHNA B REEREE AT, EREAEBRIANHNE (F
FHAFH D) BN BZEBRAE R —HRE BT, 5L #T8x. BMERE
EHIT 6 AR, BE AR ESEMEE, UESERRITFLENES, “WERS TB
ERELEVHESIM —EH BEREES .

AT EEERBIMFHOWERIK, LLTFHA 1995 4 6 A MR RN, £E X HE
W AREIRE R VT E AR P i 07 5 2 78 R X = BT K SRR B AT IR iR
Directions: In this section, you will hear a passage of about 120 words three times. The passage

is printed on your Answer Sheet with about 50 words missing . First, you will hear
the whole passage from the beginning to the end just to get a general idea of it.
Then, in the second reading, you will hear a signal indicating the beginning of a
pause after each sentence, sometimes two sentences or just part of a sentence. Dur-
ing the pause, you must write down the missing words you have just heard in the
corresponding space on the Answer Sheet. There is also a different signal indicating
the end of the pause. When you hear this signal, you must get ready for what



comes next from the recording. You can check what you have written when the pas-
sage is read to you once again without the pause.
In the United States, people appear to be constantly on the move. (1)

How often (2) moving vans on the road? (3) . Are so
many people actually (4) ? Yes, people in the United States are indeed on
the move. (5) , about one third of the population (6)

. Every person who moves (7) for making such a
decision. Some people may decide to move (8) . Some
may wish (9) . And some have many other reasons. (10)

, the amount of movement in this country is substantial.

MEEZHER:

In the United States, people appear to be constantly on the move. (1) Think for a moment. /

How often (2)do you see moving vans on the road? /(3) They seem to be everywhere./Are so
many people actually (4)changing their addresses? /Yes, people in the United States are indeed
on the move. (5)Within any five-year period, /about one third of the population (6)change their

place of residence./Every person who moves (7)has his or her own personal reasons for making

such a decision./Some people may decide to move (8) because of employment opportunities. /

Some may wish (9)to live in a warmer or a colder climate./And some have many other reasons.

(10)Regardless of the specific causes, /the amount of movement in this country is substantial.

2. ® &A% 5 (Compound Dictation)

1996 7 A&ERFEBEN AEFRBALSERAN TN ARELRWFEE, Kb
WHHFRHFBUREGRNTE, EAARIHY. E—BIRVERE, BN B,
EREABBHFTONBREHES. - BONNELEREEHEHT. SERFHES.
WM AR S T ERAER, BB 8 SO ER X E SO TS a9, 358
AR, X R E R U B E R RA N, EERET —SRENE BTN, i
HB SR R HIB KT, EERTEMMER—& 250 AARME X, BiE=H.
FBBEXHE, BHEW, EREETETESXHE; $ RN, BB EEI S
ISR W, 1% A R IR S 2 B B 5 A4, ik A RBRTRIM NE
BHERED., BRRIE R, A, 42 4 3773,

RTEBEBRBIMFUNEAGRANE, LLTHA 1996 4 6 H 5K i E .

Directions: In this section you will hear a passage three times. During the first reading, you

should listen carefully for a general idea of the whole passage. Then listen to the
passage again. When the first part of the passage is being read you should fill in
the missing word during the pause at each blank . After listening to the second part
of the passage you are required to urite down the main points according to what you
have just heard . Finally, when the passage is read the third time you can check
what you have written .
In police work you can never predict the next crime or problem. No working day is identical
to any other, so there isno “(S1) 7 day for a police officer. Some days are (s2)
5



slow, and the jobis (S3) _ ; other days are so busy that there is no time to eat. I think I can
($4)  police work in one word: (S5) . Sometimes it’s dangerous. One day, for ex-.
ample, I was working undercover, that is, 1 was on the job but I was wearing (S6)

clothes, not my police (S7) . I was trying to catch some robbers who were stealing

money from people as they walked down the street. Suddenly, (S8)

. Another policeman arrived and together we arrested three of the men;

but the other four ran away. Another day I helped a woman who was going to have a baby. (S9)

. I put her in my police car to get her there faster. I

thought she was going to have the baby right there in my car. But fortunately (S10)

HeAMEEE:

In police work you can never predict the next crime or problem. No working day is identical
to any other, so there is no “(SI)typical” day for a police officer. Some days are (S2)relatively
slow, and the job is (S3)boring; other days are so busy that there is no time to eat. I think I can
(S4)describe police work in one word: (S5)variety. Sometimes it’s dangerous. One day, for ex-
ample, I was working undercover, that is, I was on the job but I was wearing (S6) normal
clothes, not my police (S7)uniform. I was trying to catch some robbers who were stealing money

from people as they walked down the street. Suddenly, (S8)seven bad men jumped out at me,

one of them had a knife and we got into a fight. Another policeman arrived and together we ar-

rested three of the men; but the other four ran away. Another day I helped a woman who was go-
ing to have a baby. (S9)She was trying to get to the hospital, but there was a bad traffic jam. I
put her in my police car to get her there faster. I thought she was going to have the baby right

there in my car. But fortunately (S10)the baby waited to “arrive” until we got to the hospital.
=, WHERRENREHES

WT 1 B AR B A B IR B S R BUR T % 4 R 0T D K E RIS R T, 2405 A
Wi, FLEME AN REUS RS L BRE. 54 A ETH 205845, W KEMEEHA
RS, BRSMENRERASERAALY., BRETHEAWERMR L, £EXTFETH
MR- RREHR TR, RERXEAGEIHE T2, A3 H P NFNHER,

(—) Section A(/P3T i) By BB H T

MERAMNKBESTFERELANFB ., WEERXPH Section A $£F 10 HxHiE, 84
MGTE— 5 —Z Z BIEAT, T 68— AR B S VHE M AR, Bl By e ut, s BRI, k2
TR TR # 7RBR T 3 Yes-No question #t, K % ¥ K Wh-question (45 Bk BE 6] 47] ),
BiLA who, why, what, where, when, which, whose, whom, how I how many, how long %
FLB A F. Filk, WHARHMEREEBXBENFEARE R NS,

AR Section A #) 10 HE/NHEFT RN AEIEHE T IZ, (BB F7 @5 BB 4T, T &
AEERARUT 7 KEBR, TERIME - XILEER, KEEBREHT,

1) ¥F M+ E B (Numbers and Calculation)

WAL Section A ¥ i), LF KRB A H ., BT R BFI, o3 14 4F

6




B BIESH . HESH. FRSBETEUHFAOEAEH, EXRERGIRG], CHHEt
BRI BT, FEMX BB E BRI &S RERF L,

IEFRM X KA AT R REEE SRR T, 2 2. XEMBFHZER-1THE
A

O —BHIHUF

FEEFE Y NERCEIF RIS, RS TE=A WA ERMNMU EHEE,
Hrb AL R0 = AL 8 SRR R AT R S A
23— twenty-three ‘
234
2,345——two thousand, three hundred and forty-five

3,077 three thousand and seventy-seven
2,345,678

two hundred and thirty-four

two million, three hundred and forty-five thousand, six hundred and seventy-
eight
RXBFHEEN P XRFOEERR, PXRE—URFEHBE A RS
o HlN:12345 BR—FA - F=ZEW+H. MEXHBRZM—F, BEMER— &K, B
R — A AL, BN RER 12345 XN, BEOCH IR R S AN B R BOEE, — 4 W
Z, = —F——12,345, 345 £ three hundred and forty-five, 12 FERK twelve, TG 1 bR
RIBS, "M, thousands BJG—& 3, i M twelve thousand, three hundred and forty-five, Xt
FRAYWMFHRMM, 0 —, NEEE, B—ESEM thousand, B4 E SER mil-
lion, 55 =4 %M billion( FEE L), LUK, Him.
31,234,567 ,890 AL : thirty-one billion, two hundred and
billion million thousand thirty-four million, five hundred and
sixty-seven thousand, eight hundred
and ninety.
M LEE BT P AR S, TR A RR S, REEE = R R iR
",
AT, VT IR B RO TI TR . VF 255 A 18 U7 302 0 P 40 08 BT 0 30 ) 0 5 0 338 i o
X, UAZHBEHIL. HETREESHER, BBHR. EWHFORME, 20 R0 EL . i
KiZ LR Z B F. YT million, thousand ZKLL“, " £ %, B4 You will hear: three

3
million, four hundred and fifty-five thousand and twenty-one. HER.:3,455,021,
) 455 , 021
THRAXERS B iEE:.
% one eighth % three sevenths
13 one and five ninths 0.5——point five/zero point five

3.375 three point three seven five
OB
<& FER FEHYEREHERE, —RERREE, Fim.



929——nine twenty-nine/nine hundred twenty-nine

1066 ten sixty-six/ten hundred sixty-six

1800 eighteen hundred

1801 eighteen hundred and one/eighteen O one
1998——nineteen ninety-eight/nineteen hundred ninety-eight
541 B.C. five four one B.C. /five hundred forty-one B.C.
682 A.D. six eight two A, D./six hundred eighty-two A.D.

<& ERMME FERIE T+ F (decade), RABHEFAME BB HER, 20 £-29
20'sEl Z+-4E4R, -30 E-39 #7-30’s BN =+4EAR, AL HE,
in the 1850’s in the eighteen fifties(+ Lttt 40 7 +2EA4R) :
in the early 1970’s in the early nineteen seventies( — 1+t 2t + 4 ¥I8H)
in the mid 1970’s in the mid nineteen seventies( ~+ &t +FEAF R/ P )
in the late 1970’s in the late nineteen seventies( ~+ 42t/ KEA)
42— B4 (century), i “the + FEIA + century” BiRo
in the 16th century— AT+ AL
v AN R G
in the early 19th century E+ LR
in the late 19th century——7+ L2 K
EEAEMERMBLFR, 1925 FRE-HHE = HE/R, 1894 EREHAME N+
FER.

in the mid 18th century

< B 7015 a quarter past seven/seven fifteen
8:30——half past eight/eight thirty
9:55 five to ten/nine fifty-five

24:00——midnight/ twenty-four
14:00——fourteen hours/fourteen o’clock

00:20——twenty past midnight

H¥{.—HA—H The first of January/January the first
75 A+ -t B ——The seventeenth of June/June the seventeenth
#rH&: $89.50 eighty-nine dollars and fifty cents

B 55 15:278-9538 two seven eight nine five three eight
181555 . 201 5 room two O one
RATTRBERE XN HEBEFTNAREER, BRFMITEES HA B FIR
BFEMItHREE.
s A B FEE, RIEARFENPRE KBS PR EETHUMKTF. Fit, %
HETEUT R & I BT B MR B SO T, NI ERM A £,
[#1] You will read:
A) At 9:50. B) At 9:15. C) At 19:00. D) At 9:00.

You will hear:

SO <

W: Don’t you have to go to work at 9:157
8



M: No, I start at 9:50 today and 19:00 tomorrow.
Q: What time does the man start work today?
EEERFIRBPMESHFE 9:50/ nam'fifti/; 9: 15/ namn'fif'tim/; 19:00/ nan'tin/;
1 9:00/nam/, MIBBFFHHEHZEHERERN A).
(#12] You will read:
A) 1417. B) 4017. C) 1470. D) 4070.
You will hear:
W: Do the Timkens live at 1417, 5th Avenue?
M: No, they live at 1470.
Q: Where do the Timkens live?

AR I A S B A T A MR A R ¥ IR ER#EEME%EW N A& SN,

PR RYFERYEE R GBI I (/tim/)F L (/0 VB RFUA BRI BB Y
B (14n 30 #0 70, thirty H1 seventy) . BFRAMBUX2SHAT, —F BT L, HERBH LE
FRXHRIGUFELCES, REBRBEFRENSNHABRENNERRAEEANER.

Bl it MY FE, RIERERXFEMEIRROEXREFZ AHHEXR, RE
RFEERESHITETEUBHERYER,

(%3] You will read:
A) $16.00. B) $12.00. C) $4.00. D) $2.00.
You will hear: .
W: Tickets are four dollars for adults. Children’s tickets are half price.
M: O.K. I'd like to have two adults’ and two children’s tickets, please.
Q: How much did the man pay for the ticket?

MEE LA RNBRAGK 4 B, BFEKEN. MAEBEULHKRAZEMFK
JLER. EEE T XENFHXRZE, BERBRHER, 2x4+2x2, FEBH, B EtR
12 7T, HIEER B). ATHEACHERIWEHXRER, FETUB—ITHENEIL. 5
mE—R, A ASRARRBRA(Adult), C K ILE(Children), REXHEN AT HEBHHR.
A——3$4, C——8$4x1/2, 2A+2C= $4X2+ $2X2=$12, HBHER B),

X B R BRBERFZ EHXRUARRBEFREMNRE, EXEBHE—-EHERE
AR AL R R, BN :add, increase, miss, lend, loan, twice, percentage, pair, a pair of,
half, half of, double, quarter, one third %%,

[#4] You will read:
A) 3. B) 6. C) 12. D) 24.
You will hear:
M: This cake was cut in 6 squares.
W: Let't cut them in half so that each of us can have a piece of cake.
Q: How many people are there having the cake?

—HRERES M ——1/6, in half—1/6x1/2=1/12, 1P=1C(—A—HREE), H&
RELVAN? REBEEERC).

2) Bl Hb 5 F 3¢ & (Occupation, Location and Relationship)




X RER A SR EE— L, RIEI=ZFAEERE BT, BE X
=FEREAEFAAM, U —-R =,
(%1 1] You will read: .
A) A dentist. B) A cook. C) A waiter. D) A tailor.
You will hear:
M: Open wide. Now show me where it hurts.
W: Here on the bottom especially when I bite into something hot or cold.
Q: Who is the man? -
 BHFRE—AES KT, BEA NS, TFESRERSRATER, KEEIE,
AHELE, B—UFEELSRAER. AETRLE, XR—ERWE, EEH A, TH]KA
B FI %7 —#%: Q: Where does this conversation probably take place?

A) Clinic. B) Bank. C) Post office. D) Restaurant.
ERERT —EHEE, EEHVA),

RAOVEBILEG—#: Q: What'’s the relationship between the man and the woman?

A) Doctor and patient. C) Servant and hostess.

B) Waiter and customer. D) Student and teacher.

ERXER—EREE, BEENA).

& LA, XRKE /DR, HEEBRX — KB B R REHIT, Eae e AN g %,
XA R BRMLRIA, Bl BAENRANIRIENAETIER SR 08 X%
W LH ERFTIREEE, REMEXELRE, B0 SPGRIE SRR LR
REMMT o

TR TR R Y — R b S PR TR BE
< Hotel(TEHRAE) .

reception, receptionist, reservation, single/double room, book a room, luggage, tip(/N8%),
suite(# ), bath, full, front room, room key, check in(%iE2fE15), check out(£#), room
number
<> Airport(FEHLI)

arrival/ departure time, booking office (B B 4b), ticket agent (B ZEfLFE A ), take off (#&
), land boarding card( ¥ ¥L/#), flight, hostess, airways, flight number, destination, aircraft,
by air, airlines
<> Restaurant(ZEB1E) .

dish, food, menu, bread, potato, tomato, soup, order, beaf, waiter, waitress, dessert,
salad, soft drink, care for(B¥KFZ), bill ‘
<> Bank(#E#17):

cash, check, traveler's check (B&17 X %&), account( F*3k), savings, fixed deposit (i #i#F
#X), current account(JERAFEE MK F7)
<> . Bookstore(ZEHJE) : 4

book, dictionary order(iT#1), stack($3%2), manager(FJEZRH), page, edition(FiA)
<> Library(ZEE$1H) .
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borrow, lend, library card, catalogue( H 5% ), novel, magazine, reference (& % % ¥} ),
bookshelf, renew, latest issue, stack
<> Post Office( FERR R :
mzil, air mail, ordinary mail, letter, stamp, postage deliver, oversea mail, telegram, post,
send
<> University or Other School(7F K2 sl Hfth K2 42) .
quiz, test, exam, midterm exam, final exam, professor, lecturer, assistant, lab, score,
grade, course, campus assignment, papers, dormitory, undergraduate( K% 4 ), freshman( k%
—HERFE), senior( UFEHKEH), graduate student(BF5 ), fail in, pass
<> Hospital( EEPE) :
pain, cough, headache, stomachache, fever, .temperature, heart attack, take medicine,
pills, tablet, syrup(#53£), fluCHITHE'E ), operation, physical examination, be in surgery(7E
FAR), symptom(SEIR), a sore throat, feel terrible, injection, doctor’s waiting room
<> Store(FEHE):
men’s department, women’s department, counter, price, on sale( K {T), size, colour,
style, cheap, expensive, fashion, cost, out of stock( L)
<& Court(TEIREE L),
judge, lawyer, clerk(F2HR), jury(FE# H), witness(EAN), defendant(# %), case(
), appeal( L), sentence, guilty, innocent
FLX ], MR E X K EH G R E .
3) R4 GEKR M E B (Offer, Request and Suggestion)
TEXER T, —HRRB R, B— 7 W% 7R 2 ailid, Got—FERiER
B, B— M ERF ERIE%,
[# 1] You will read:
A) She’ll sell him a cup of coffee. C) She’d like some coffee.
B) The coffee cup’s too full. D) Coffee’s too hot.
You will hear:
M: What would you say of a cup of coffee?
W: Great idea.
Q: What does the woman mean?
(#12] You will read:
A) She agrees to lend him the car. C) She refuses to lend the car.
B) She offers him the car. D) She is pleased to lend him the car.
You will hear;
M: Can I use your new car, auntie?
W: Yes, of course, if you drive it carefully.
Q: What's the aunt’s answer? )
B BT R BEMHER 5, 07 [T : Great idea. R [A 8. 8 5 1 bl 8 2 73
WRBH——B%F . FIERRFER, HFE X EHETF /0 RE T,
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fHOX KR 8 R AR A OWR- - 1R (L 45 B ol SR B B, 7 LR 7 R E R4
W ORASER BRI N7 O B EIL R,

4) 170 JRH 5% 5 (Action, Cause and Effect)

XEGRAG LR IETH T A TEREMBENREE EWFE—IT IR BN, B -7
VU XHIZAT Ay 9 DR ER AR AT 18 A R By BRI R T S B LR R ORI H A ML (Q) K MR 4
# LA what 80 why JF3k.

(% 1] You will read;
A) The train was late. C) Jane hadn’t expected a class.
B) Jane got up later than usual. D) Her clock was out of order.
You will hear:
M: Jane, why were you late for class this morning?
W: [ overslept and missed the train.
Q: Why did Jane miss the class?

- 1) 545 Hi R E) (Jane was late for the meeting ) 3X 45 8, T 45 — 4 ) g faf 6] & 45
7R3 B (overslept and missed the train) ; Bt 7 L8550 7 k&, Kk, ZEBEEBHE
HB).

(#12] You will read:
A) She was wearing a swimming suit when she went to beach.
B) She packed her swimming suit on the beach.
C) She brought a swimming suit to the beach.
D) If she would have time she would go swimming.
You will hear:
W: I packed a swimming suit in case I should have time 1o go to beach.
M: We will be very busy with our business.
Q: What’s the woman’s purpose?

B mE P LT B O R AT A T — A 20t B ] 2 08 0 B S
KA BT ZAE XTI R £ RIT A T B HI AT RE 200 T 4 B T R B[] (X
B A BN RS AR L T IAT O, R R FTR MR B L AT R R,
HURR . N EWH, B KK, T M E KSR, FFIEE R D).

5) W & HE 5 R (Comparison, Attitude and Response)

X SRR X TE R S NS F A WA A R S Bk B AR B A L A Bk, &
i 7SR R AT IR R
[#11] You will read:

A) He’s rather happy to hear so.
B) He’s unhappy to hear the woman's remark.
C) He’s disappointed to hear the remark.
D) He gets angry to hear the woman’s words.
You will hear:
W: You don’t look like a man over forty.
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